Instructor: Dr.R.A.G. Seely ’} \\ Test 1

(version for practice)

Cal II (S) (Maths 201-NYB)

1. Evaluate the following:
2? =1 dx
— d b /7d /7
/Sec()x S e s ) | e

(d) /Mdt () [(ine)da (f) /ﬂda

t sin” 0

V3 ¢ tan ¢ 14ev®
@ [ rarctant ) / T e () [a*es da
ZE N

i) /tan(l + a)dx (k) \/xg:]:_%i)_ (1) /el’ cos 2z dx

0) / 7@ dz

2 2 9g
d / ——d
(m) /1 x arcsec ¢ dx n) , x

2. Find the derivative % for the following. Do not simplify your answers.
xr

(a) y = 22 (b) y = sec(x) scc™(x)

arccos(x)

3. (a) Calculate the exact value of cos (arccsc (%))

(b) Simplify the expression sec(tan™'(x)),
expressing your answer in a form without any trig or inverse trig.

4. (a) Find (if possible) an x for which arcsin(sinz) = 2, and another = for which
arcsin(sin ) is not equal to .

(b) Is it always true that sin(arcsinz) = a? If not, give an example where the equation
fails, and if so, then briefly explain why.



